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What to study and review:

Classroom Grammar_Unit 1 Tenses (p.12-27) 2. Memorlze verb table (1-100)
1. complete exercise on the internet | g P
& become #af became ‘become dealt dealing
https://docs.google.com/forms/d/e/1FAIpQLSfFeOasqlNtt ] e R
kvnzyVWG3v2I3HsVMmIIZonX3BAITJp6w4L8g /viewform i [ i s :
12 bring W ku\,;;x ‘trought m’n;:; 2 :‘:
m E 13 build B @E] il buile building 22 fall BT
E1HEE, H2 14 bum  BUECE . 28 faed 2
18 buy B el 36 fight | 3
3.16~3. 200] _ N SRS S b om0 o had
— e o ot | s
HER * T T taiage
forgave forgiven forgiving 61 les left leaving
Gl froze frozen freezing 0 et lending
got got getting 63 lied lying
a gave given giving 64 lie lain lying
went gone going 65 lig it / lighted lighting
46 grow | AR grew grown growing 66 lose Py lost lost losing
g 47 hang (hing) £ hung hung hanging 67 let A et et letting
EN 48 hang | 40E hanged hanged hanging 68 make I i made making
_____ N 49 have [T had had having 69 meant meaning
mE 50 hear i heard heard hearing 70 meet W met met meeting
51 hide i hid hidden hiding 71 pay {18 paid paid paying
52 hit | T hit hit hitting 72 put iz put put putting
53 hold held holding read read reading
L 5 hurt hurt hurting rode ridden ding
P 55 keep 77 kept keeping ose risen Ising
- B R — - o | I i i R
1.1 Revision of the present tenses .ﬁ, . > Now leading 79 saw ] sawedlsawed | sawnisawed sawing
T The simple present tense 4@ Y ) ¢ learning 80 see BE. saw seen | seein 9
2 | G Q2 I RS =y By e
4 1 ‘ |.=1 We we the p contiauous when we talk abe 22 send .5 £ sent sending
22 mew =2 sewed sewn swing
. 24 et =& st a2t satting
85 shake | HE shoal: shaken shakin
habic 52 shine =i shone shon shining
" - 87 shoot = shot shot shooting
28 show = g showed shown showing
82 shut BAEA shut shut shetting
8 ¥ sing =z zang g sinzifiz
) sink Fit zank unk ginkisr
2wt & sat sat itting
%je% 3 sleep = lapt slapt lesping
N e e 94 smell | &--mzx  |Jemelled/ =melt) smelled /smalt zmalling
#]—._TE_09032020_grammar_ Present perfect and % v xE | wwe | s _
simple future tense.ppt Tower EE | omw | wem | e
37 spell = o2t/ sp2iied | spalt / spalled spelling
B 02032020 _grammar_ Present continuous and @ spmd mwow | s | e | omaine
28 spill B spilt! spilled | zpilt’ spillad spilling
simple present tense.ppt o saaa mr | wee | owse | e
S22 ] BL 24022020 _grammar_Past Continuous
tense and Simple past tense.ppt
e i‘
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1. How often do you ( practice / practises ) your drawing? *

e

2. I{don'twalk / am not walking ) close to Sam. He is in a bad temper at the moment! *

e

*

3. Candy (has gone/ has been ) to many places. She is sharing her last trip in Europe with us
now.

HET=

4. We had abig meal last night. We ( have eaten/ ate ) two salmon and two steaks. ™

HETF

5. G.E.M ( has been / was ) a singer for over 10 years. Her latest album ( has become / became ) *
a great hit.

BEw=

*

6. | have just bought a new camera ( since / for ) a day. | am still learning how to use it.

BErs

7. Paul and Jimmy ( looked / were looking ) for their dictionaries the whole afternoon. ®

BErr

8. |I(stay/ stayed ) awake last night because my baby sister cried every two hours, ™

[Gipces




9. lam not sure, perhaps | ( will join / am going to join ) Richard for the barbecue on Friday

night.

BEwF

10. My printer is out of order. Joe ( will repair / is going to repair ) it for me tomorrow

[Eaea

11. Don't worry about your sister. She is already fifteen years old and she ( will be /is going to
be ) fine.

12. My sister (is going to go/ goes ) to the library every Saturday morning. ©

BExr

13. Daniel ( swims /is swimming ) now. Let's see how fast he can swim! *

HET=

14. | (wasn't travelling / travelled ) in a train with my aunt at 7:30 last night. | was watching TV at ™

home.
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15. Angela to Australia last week. ™
go
goes

went

going

16. Sam loves the mountains. The air fresh there. *

are
was

were

17,1 a bath when someone turned off the light. | was scared and shouted for help. *
was taking
took
am taking

taken

18. Many of my classmates have had the experience of taking an airplane, but |

don't
wasn't
won't

haven't
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M= a5 | mimsnst | mEsxst | sErast | m@Erwet | sErmst | seErmst | wErmet | seErmer | meErmet | m@smst | sn@Esmst |
i} 1 (2o 3)0-4)=0 (1 )0-2)=0 (3x-5)02%-10=0 (Fo+2)x-3)=0 (-1 )0d-30=0 (232 E=0 (5x-4)0x+2)=0 (Zz+190x+1)=0 (2y- 30y +2)=0 (3x-20(2%-3)=0 (Fa+2)a-3)=0

& 2

$ 3
i 4

il 5

il 5 (2x+3)(x-4)=0 (31 )0x-2)=0 (T 2)(x-3)=0 (4-3)(32-19=0 (2 (24 3)=0 (5x-410x+2)=00 (241 90+1)=0 (2y-30y+2)=0 (3x-20(2%-3)=0 (3a+2)(a-2)=0

i 7 (2o 30x-4)=0 (e 0-2)=0 (Fo+2)x-3)=0 (-1 )0d-30=0 (B2 =0 (5x-d)0x+2)=0 (Zz+190x+1)=0 (2y- 30y +2)=0 (3x-20(2%-3)=0 (Fa+2)a-3)=0

B g {2+ 3)(-49=0 (3x+1)0%-2)=0 (7 x+2)(x-3)=0 (4x-3)032-1)=0 (2243 22+ 3)=0 [9x-4)0x+2)=0 (2x+1)0x+1)=0 [2y-3Iy+2)=0 [3%-2)(2%-3)=0 [3a+2)a-3)=0
& 3 (2x+3) (x-4) (3x+1) (x2) (7x+2) (x3) (4x3) (3e1) | (2x:8) (2¢:3) | (5x:4) (2] (2x+1) (x+1) (23) (y2) | (3c2) (2¢3) (32+2) (23]
i 10

i "

& 12

& 13

B 14 (2e+3)(x-4)=0 (Fe+130x-2)=0 (2+8)( 24 3)=0 (5x-4)0x-2)=0 (2x41)(x+1)=0 (2y-3)(y+2)=0 (3x-2)(2%-3)=0 (3a+2)(a-3)=0
;3] 15 (ZerB)x-49=0 (G 10-29=0 (Tt 210x-39=0 (Zer (e 3)=00 (Sx-4)0x+2)=0 (21 )0+ 9=0 (2y-50(y+2)=0 (B2 25-3)=0 (Fa+2)a-3=0
Ll 16 (20+3)  (x-4) (3e1) (22 (2320080 (- 2) (2x+1)x+1) (2y-3)(y+2) (23321 (Fe+2)a-3)
i3] 17 (23+3) H(x-4) (Bl P (%-2) (2+ 3 2x44) (S-47(x+2) (2504194 1) (Fa+21Ma-3)
i3] 18 (2243} (x-4)=0 (F+1(x-29=0 (Fo+2(x-3)=0 (42-3)(32-19=0 (2T 2+ =0 (5x-41(x+2)=0 (21 )(x+19=0

B 19 (2+A0x-4)=0 (F+10x-2)=0 (Fa+2I(x-3)=0 (4X-3)(3%-1)=0 (20+2)(2%+3)=0 (5x-43(x+2)=0 (2x+1)(+1)=0 (2y-3)(y+2)=0 (3a+2)a-3)=0
B B (203) (—4) | (@) (—2) (702) (x—3) | (3) (31) | (o) (med) | sea) Ge2) | (2e1) (1) | (y—3) (y2) | (3x—2) (2—3) | (3m2) (a—3)
B 2 (2+3)(x-4)=0 (Sx+1)0x-2) =0 (Fa+2I(x-3)=0 (4x-3)(3x-1)=0 (2+8)( 24 3)=0 (5x-4)(x+2)=0 (2x41)(x+1)=0 (2y-3)(2x-3)=0 (3x-2)(2%-3)=0 (3a+2)(a-3)=0
;3] 22 (23 43=0 (G 10-29=0 (Tt 210x-39=0 (4¥-3)0 3 (2K D) 2H3)=0 (SX-4)0c+2)=0 (21 )0+ 9=0 (2y-50(y+2)=0 (B2 25-3)=0 (Fa+2)a-3=0
il 23

i3 2 (2xF3) (x—4) (3t {x—2) (7xt2) (2019) (2¢t3) | (Se—d) (eF2) | (2et) (et | (2y—3) (yF2) | (26—3) (3x—2) (3at2) (a—3)
B 26 [2x+30z-4) [3x+1 )z-2) [7+2)%-3) [3x-104x-31 [2x+32%+3) (5x-4 )+ 2) [2x+1)(x+1) [2y-3)0y+2) (22-3WF2-2) (Ja+2)(5-3)

B 27 {2x+3)(x-4)=0 (Fx+1)(x-2)=0 (Fx+2)(%-3)=0 (45-3)(3=-1)=0 (2x+9)( 25+ 3)=0 (9x-4)x+2)=0 (2x+1)0x+1)=0 [ 2y-3y+2)=0 [3a+2)(a-3)=0
B 28 (2+3)(x-4)=0 (Fx+110-2)=0 (Fo+2I(x-3)=0 (4x-3)(3x-1)=0 (2824 3)=0 (5x-4)(x+2)=0 (2x41)(+1)=0 (2y-3)(y+2)=0 (3x-2)(2x-3)=0 (33+2)(a-3)

=
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[ wo@Ess? | SoEsEET | BUEERE7? | ScEEEST | BeErxR? | BUESEE° | Be@iRs? | SofFES? | #oEsRs? | sn@sEST | Bo@ERs? |

(2n-3)2n+5)=0 (2a+5)(3a-7)=0 (x-2)c+4)=0

(2n-3)2n+5)=0
(2n-3)2n+5)=0

(2a+5)(3a-7)=0
(2n-3)(20+5)=0

(on+s)  {2n-3) (ced)  (x-2)

(2n-3)(2n+5)=0
15 (2n-3)(2n+5)=0

(x+2)0x-4)=0

{x-2)(c+5)=0

(x#5)(x-2)=0

(5x-13)(x+1)=0 (eI 3)=0

(5x-13)(x+1)=0

[e2I0eE)=0

(5x-13)(x+1)=0

(e+5)(x-2)=0

(5x-13)(x+1)=0

(-2} Lees)

(e+5)(x-2)=0

(5x13)  Lxe1) (2x43)  (x+3) (5x+2)  (3x-1) (3y+2)  (2y+5)

(5x-13)(x+1)=0

(e+5)(x-2)=0

(5x-13)(x+1)=0

(3 5cr2)=0

(3y+2)(2y+5)=0

(2y+5)3y+20

(-5 5+dy)=0

(S+4yI(4-5y)=0

]

(2n-3)r20+5)=0 (2a+59(35-7)=0 (- 2)x+4)=0 [%-2)(x+5)=0 (531 3)0+1)=0 (3900 3)=0 (3 WS 2)=0 (3y+2)(2y+5)=0 (-5 5 +4y)=0

(500

Exe)ix-2)=0

-2

(4x+30+3)=0 (3x-1(5x+2)=0 (By+22y+5)-0

[4-5y 0 S+4y)=0

(x+4)(x-5) =0

[x+3(x-2) =0

(2y+5)3y+2)=0

[ S+dy ) 4-Sy)=0

(x-5)(x+41=0

Oe+3)x-2)=0

(2y+5)3y+2)=0

(5+dy]  (4-5y)

(5+)(4-57)=0

(x5) (xed)

(x-5)(x+41=0

(048] (-2}

Oe+3)x-2)=0

(2y+5)3y+2)=0

(5+)(4-5y)=0

(x-5)(x+41=0

Oe+3)x-2)=0

(2n-3)2n+5)=0

(2n—3) 2nt5) | (2ats) (3a—7) | oobd) (x—2)

(x+5)(x-2)=0

(x15) (x—2)

% (2n-3)(2n+5) (38-T)(28+5) [-2)x44)
27 (2n-3)(2n+5)=0
25 (2n-3)(2n+5)=0

B EeEEBRBE R DR ERE B BB B BB B(E|E|B|R

eH5)(x-2)=0

(5-13)(x+1)=0

(5x—13) (et1) | (axt3) (xt3

(2y+5)(3y+2)

(294593 +2)=0

(4-5y ) 5-4)

(5+44)04-5y)=0

Gerd)ite5)

e B2

(o P(x-5)

(e 3(x-2)

(-5)+=0

e E-2)=0

(294593 +2)=0

(5+ay)(a-5y)=0

(-5)+=0

e E-2)=0

15 (2n-3)(2n+5) (Za+5)(3a-T) beD)d) (o5I0eD) (513001 (der0eE) (310502
17 (2n-3)H(2n+35) (2a+5)(3a-T) (21 d) G502 (130 (e E(xe3) (5231

18 (2n-3)(2n+5)=0 (HE)-20=0 (513041 1==00

19 (2n-3)(2n+5) (erEIe-2)=0 (521 )+1)=0

20 (2n+5)  (2n—3) (x—2)  (xs+5) (5x—13)  (x+1) (3y+2)  (2y+5)
21 (2n3)2n+5)=0 (erSIGe-2)=0 (51 3)+1)=0

(3x—1) (sxt2)

(2y+5)3y+2)=0 (Sx+4y)(4-5y)=0

(3yt2) (st2y)

(5+dy)  [4—sy)

(x—5)  [x+d)

(o3} (x—2)

(S+dyId-Sy)=0

(SN0

(x3-2)=0

(5x-13)0x+1) [4x+3)(x43)
(5x-13)(e+1)=0

(+5)(x-2)=00

| tseamee=n

(3%-1(5%+2)

(By+2)(2y+5)

(4-5y)(5+4y)

(-5)c+=0

(xta) (x—s)

(#3020

2y xt3)

[x-5)0c+d]

[+ 310x-2)

(2y+5)(3y+2)=0

[ Sty ) 4-5y)=0

(x-5)(x+41=0

Oet3)-2)=0

(2y+5)(3y+2)=0

(5+4y)4-5y)=0

(-5 )=0

(e 3)ix-2)=0
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z 2 (2x43) (x-4) (341} (x-2) (1) (3x5) (Tx+2) (x-3) (4x-3) (3x1) (2x+3)  (2x48) (5x-4)  (x+2) (2x+1) (xr1) (2y-3) (y+2) (2x-3)  (3x-2) (3a+2) (a-3)

Ff 3

= 4

z 3 (22-3) (%-3)

Z ] (Ze+B)x-1) (3+1)x-2) 2x+3 2+ Sx-d 542 el (2y-3)(y+2)

2 13 (25430 (54) (x2) (3xs1) (3ee8) (203) | (5xd) (xe2) (1) (o) (2931 (ys2)

Faf 14

2 15 (ed) (2x3) (3c11) (x2) (T2) (x3) (3e1) (0ed) | (2e3) (208) | De2) (5x4) (1) (2et) (y+2)  (2y-3)
| oes | A o

Z 16 (2430 (x-41 [ 3x+10 (=-2) 8 [3x-53) [x-3) (Tw+2) (310 (4x-3) [ 2x+3) (2x+9) [5x4 (x+2) 1) (2y-3) (y+2)

Z 17

Z 20

z &

F 23
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= i
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21 (2n-3)(245) )2 (+5]0x-2) (T (x-5)x+4) (+3)02)
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